

ALACHUA COUNTY Budget and Fiscal Services Procurement

Theodore "TJ" White, Jr. CPPB Procurement Manager

Thomas J. Rouse Contracts Supervisor

Darryl R. Kight, CPPB Procurement Supervisor

May 8, 2023

MEMORANDUM

TO: Theodore "TJ" White, Jr. CPPB, Procurement Manager

FROM: Mandy Mullins, Procurement Agent I

SUBJECT: INTENT TO AWARD

ITB 23-947 CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge

Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

Solicitation Opening Date: 2:00 PM, Wednesday, April 12, 2023

Solicitation Notifications View Count:
Solicitations Downloaded by:
Solicitations Submissions:

626 Vendors
46 Vendors
3 Vendor

Firms:

E&D Contracting Services, Inc. M&J Construction Company of Pinellas County, Inc.

Savannah, GA 31405 Tarpon Springs, FL 34689

Titan Construction Management LLC

Tarpon Springs, FL 34689

RECOMMENDATION:

It is our recommendation that the bid be awarded to the lowest responsible and responsive bidder, E&D Contracting Services, Inc., in the amount of \$1,160,220.00. The Department recommends an initial contract price in the amount of this bid price a 5% contingency in the amount of \$58,011.00.

The totals for each award will be:

Award Project No. 919-7903- FY19-260086- CR241 over Santa Fe River in the initial contract amount of \$685,450.00 and a 5% contingency of \$34,272.50

Award Project No 919-7903-FY19 -260027- CR 325 over Cross Creek in the initial contract amount of \$474,770.00 and a 5% contingency of \$23,738.50

fuib May 9, 2023

Approved Date Disapproved

Theodore "TJ" White, Jr. CPPB
Procurement Manager

Theodore "TJ" White, Jr. CPPB
Procurement Manager

MM

Vendor Complaints or Grievances; Right to Protest

Unless otherwise governed by state or Federal law, this part shall govern the protest and appeal of Procurement decisions by the County. As used in Part A of Article 9 of the Procurement Code, the term "Bidder" includes anyone that submits a response to an invitation to bid or one who makes an offer in response to a solicitation (e.g., ITB, RFP, ITN), and is not limited solely to one that submits a bid in response to an Invitation to Bid (ITB).

- (1) Notice of Solicitations and Awards. The County shall provide notice of all solicitations and awards by electronic posting in accordance with the procedures and Florida law.
- (2) Solicitation Protest. Any prospective Bidder may file a solicitation protest concerning a solicitation.
 - (a) Basis of the Solicitation Protest: The alleged basis for a solicitation protest shall be limited to the following:
 - i. The terms, conditions or specifications of the solicitation are in violation of, or are inconsistent with this Code, Florida Statutes, County procedures and policies, or the terms of the solicitation at issue, including but not limited to the method of evaluating, ranking or awarding of the solicitation, reserving rights of further negotiations, or modifying or amending any resulting contract; or
 - ii. The solicitation instructions are unclear or contradictory.
 - (b) Timing and Content of the Solicitation Protest: The solicitation protest must be in writing and must be received by the Procurement Manager, twhite@alachuacounty.us by no later than the solicitation's question submission deadline. Failure to timely file a solicitation protest shall constitute a total and complete waiver of the Bidder's right to protest or appeal any solicitation defects, and shall bar the Bidder from subsequently raising such solicitation defects in any subsequent Award Protest, if any, or any other administrative or legal proceeding. In the event a solicitation protest is timely filed, the protesting party shall be deemed to have waived any and all solicitation defects that were not timely alleged in the protesting party's solicitation protest, and the protesting party shall be forever barred from subsequently raising or appealing said solicitation defects in a subsequent award protest, if any, or any other administrative or legal proceeding. The solicitation protest must include, at a minimum, the following information:
 - i. The name, address, e-mail and telephone number of the protesting party;
 - ii. The solicitation number and title;
 - iii. Information sufficient to establish that the protesting party has legal standing to file the solicitation Protest because:
 - 1. It has a substantial interest in and is aggrieved in connection with the solicitation; and
 - That the protesting party is responsive, in accordance with the criteria set forth in the solicitation, unless the basis for the Solicitation Protest alleges that the criteria set forth in the solicitation is defective, in which case the protesting party must demonstrate that it is responsible in accordance with the criteria that the protesting party alleges should be used;
 - iv. A detailed statement of the basis for the protest.
 - v. References to section of the Code, Florida Statutes, County policies or procedure or solicitation term that the protesting party alleges have been violated by the County or that entitles the protesting party to the relief requested;
 - vi. All supporting evidence or documents that substantiate the protesting party's alleged basis for the protest; and
 - vii. The form of the relief requested.
 - (c) Review and Determination of Protest: If the Solicitation Protest is not timely, the Procurement Manager shall notify the protesting party that the Solicitation Protest is untimely and, therefore, rejected. The Procurement Manager shall consider all timely Solicitation Protests and may conduct any inquiry that the Procurement Manager deems necessary to make a determination regarding a protest. The Procurement Manager shall issue a written determination granting or denying the protest. The written determination shall contain a concise statement of the basis for the determination.

- (d) Appeal: If the protesting party is not satisfied with the Procurement Manager's determination, the protesting party may appeal the determination to the County Manager by filing a written appeal, which sets forth the basis upon which the appeal is based, including all supporting documentation. The scope of the appeal shall be limited to the basis alleged in the Solicitation Protest. The appeal must be filed with the Procurement Manager within five business days of the date on which the Procurement Manager's written determination was sent to the protesting party. Failure to timely file an appeal shall constitute a waiver of the protesting party's rights to an appeal of the Procurement Manager's determination, and the protesting party shall be forever barred from subsequently raising or appealing said Solicitation defects in a subsequent award protest, if any, or any other administrative or legal proceeding. After considering the appeal, the County Manager must determine whether the solicitation should stand, be revised, or be cancelled, and issue a written determination and provide copies of the determination to the protesting party. The determination of the County Manager shall be final and not subject to further appeal under this code.
- (3) Award Protest. Any Bidder who is not the intended awardee and who claims to be the rightful awardee may file an award protest. However, an award protest is not valid and shall be rejected for lack of standing if it does not demonstrate that the protesting party would be awarded the Solicitation if its protest is upheld.
 - (a) Basis of the Award Protest: The alleged basis for an Award Protest shall be limited to the following:
 - i. The protesting party was incorrectly deemed non-responsive due to an incorrect assessment of fact or law;
 - ii. The County failed to substantively follow the procedures or requirements specified in the solicitation documents, except for minor irregularities that were waived by the County in accordance with this Code, which resulted in a competitive disadvantage to the protesting party; and
 - iii. The County made a mathematical error in evaluating the responses to the solicitation, resulting in an incorrect score and not protesting party not being selected for award.
 - (b) Timing and Content of the Award Protest: The Award Protest must be in writing and must be received by the Procurement Manager, twhite@alachuacounty.us by no later than 3:00 PM on the third business day after the County's proposed Award decision was posted by the County. Failure to timely file an Award Protest shall constitute a total and complete waiver of the Bidder's right to protest or appeal the County's proposed Award decision in any administrative or legal proceeding. In the event an Award Protest is timely filed, the protesting party shall be deemed to have waived any and all proposed Award defects that were not timely alleged in the protesting party's Award Protest, and the protesting party shall be forever barred from subsequently raising or appealing said Award defects in any administrative or legal proceeding. The Award Protest must include, at a minimum, the following information:
 - i. The name, address, e-mail and telephone number of the protesting party;
 - ii. The Solicitation number and title;
 - iii. Information sufficient to establish that the protesting party's response was responsive to the Solicitation;
 - iv. Information sufficient to establish that the protesting party has legal standing to file the Solicitation Protest because:
 - 1. The protesting party submitted a response to the Solicitation or other basis for establishing legal standing;
 - The protesting party has a substantial interest in and is aggrieved in connection with the proposed Award decision; and
 - 3. The protesting party, and not any other bidder, should be awarded the Solicitation if the protesting party's Award Protest is upheld.
 - A detailed statement of the basis for the protest;
 - vi. References to section of the Code, Florida Statutes, County policies or procedure or solicitation term that the protesting party alleges have been violated by the County or that entitles the protesting party to the relief requested;

- vii. All supporting evidence or documents that substantiate the protesting party's alleged basis for the protest; and
- viii. The form of the relief requested.
- (c) Review and Determination of Protest: If the Award Protest is not timely, the Procurement Manager shall notify the protesting party that the Award Protests is untimely and, therefore, rejected. The Procurement Manager shall consider all timely Award Protests and may conduct any inquiry that the county Procurement Manager deems necessary to resolve the protest by mutual agreement or to make a determination regarding the protests. The Procurement Manager shall issue a written determination granting or denying each protest. The written determination shall contain a concise statement of the basis for the determination.

(d) Appeal:

- i. If the protesting party is not satisfied with the Procurement Manager's determination, the protesting party may appeal the determination to the County Manager by filing a written appeal, which sets forth the basis upon which the appeal is based. The scope of the appeal shall be limited to the basis alleged in the award protest. The appeal must be filed with the Procurement Manager within five business days of the date on which the Procurement Manager's written determination was mailed to the protesting party. Failure to timely file an appeal shall constitute a waiver of the protesting party's rights to an appeal of the Procurement Manager's determination, and the protesting party shall be forever barred from subsequently raising or appealing said award defects in any administrative or legal proceeding.
- ii. After reviewing the appeal, the County Manager will issue a written final determination and provide copies of the determination to the protesting party. Prior to issuing a final determination, the County Manager, in his or her discretion, may direct a hearing officer, or magistrate, to conduct an administrative hearing in connection with the protest and issue findings and recommendations to the County Manager. Prior to a hearing, if held, the Procurement Manager must file with the hearing officer the protest, any background information, and his or her written determination. The protesting party and the County shall equally share the cost of conducting any hearing, including the services of the hearing officer. If applicable, the County Manager may wait to issue a written final determination until after receipt of the findings and recommendations of the hearing officer. The determination of the County Manager shall be final and not subject to further appeal under this code.
- (4) Burden of Proof: Unless otherwise provide by Florida law, the burden of proof shall rest with the protesting party.
- (5) Stay of Procurements during Protests. In the event of a timely protest, the County shall not proceed further with the solicitation or with the award of the contract until the Procurement Manager, after consultation with the head of the using department, makes a written determination that the award of the solicitation without delay is:
 - (a) Necessary to avoid an immediate and serious danger to the public health, safety, or welfare;
 - (b) Necessary to avoid or substantial reduce significant damage to County property;
 - (c) Necessary to avoid or substantially reduce interruption of essential County Services; or;
 - (d) Otherwise in the best interest of the public.



Alachua County Public Works Department

Ramon D. Gavarrete, P. E. Public Works Director

April 25, 2023

Public Works Ramon D. Gavarrete, P.E.

Public Works Director /
County Engineer
rgavarrete@alachuacounty.us

Tel. (352) 374-5245 Fax: (352) 337-6243

Public Works Brian C. Kauffman, P.E.

Public Works Assistant Director bkauffman@alachuacounty.us

Tel. (352) 548-1306 Fax: (352) 337-6243

Road & Bridge Donald E. Clifton

Road Superintendent dclifton@alachuacounty.us

Tel. (352) 374-5245 Cell: (352) 213-4832

Fleet Management Gerald D. Bailey

Fleet Manager gbailey@alachuacounty.us

Tel. (386) 462-1975 Fax: (386) 418-0331

Administration Kenneth Fair, CPA, CGFO

Sr. Administrative Support Manager kfair@alachuacounty.us

Tel. (352) 374-5245 Fax: (352) 337-6244

MEMORANDUM

TO: Theodore P. White, Procurement Manager

FROM: Ramon D. Gavarrete, P.E., Public Works Director Plant Dear Date 2020.

SUBJECT: BID #23-947; Bridge 260086 Rehabilitation – CR241 over Santa Fe River: Project 919-7903-FY19-260027 and Bridge 260027 Rehabilitation – CR325 over Cross Creek: Project 919-7903-FY19-260086

Our department has reviewed the responses submitted for the above referenced bids and has determined that three bids are in compliance with the Department's bid documents and instructions. It is our recommendation that the bid be awarded to the lowest responsible and responsive bidder, E&D Contracting Services, Inc., in the amount of \$1,160,220.00. The Department recommends an initial contract price in the amount of this bid price a 5% contingency in the amount of \$58,011.00.

Specific questions concerning the above bid may be referred to James Link at 352.548.1289

RDG:JF:jal



Alachua County, Florida

Procurement

Theodore "TJ" White, Jr. CPPB, Procurement Manager County Administration Building, Gainesville, FL 32601 (352) 374-5202

EVALUATION TABULATION

ITB No. ITB 23-947

CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

RESPONSE DEADLINE: April 12, 2023 at 2:00 pm

Tuesday, May 9, 2023

SELECTED VENDOR TOTALS

Vendor	Total
E&D CONTRACTING SERVICES, INC	\$1,160,220.00
Titan Construction Management LLC	\$1,202,851.49
M&J Construction Company of Pinellas County, Inc.	\$1,272,472.00

PROJECT NO. 919-7903- FY19-260086- CR241 OVER SANTA FE RIVER

Project No. 919-7903- FY19-260086- CR241 over Santa Fe River				SERVICES, INC Comp		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1	MOBILIZATION	1	LS	\$22,000.00	\$22,000.00	\$48,000.00	\$48,000.00	\$35,628.02	\$35,628.02
X	2	MAINTENANCE OF TRAFFIC	1	LS	\$50,000.00	\$50,000.00	\$44,000.00	\$44,000.00	\$27,000.00	\$27,000.00
X	3	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLISION	1	LS	\$22,000.00	\$22,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00

Project No. 919-7903- FY19-260086- River		· CR241 ove	CR241 over Santa Fe		ITRACTING CES, INC		struction of Pinellas y, Inc.	Titan Construction Management LLC		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	4	SEDIMENT BARRIER	400	LF	\$10.00	\$4,000.00	\$8.00	\$3,200.00	\$40.00	\$16,000.00
Х	5	FLOATING TURBIDITY BARRIER	600	LF	\$25.00	\$15,000.00	\$15.00	\$9,000.00	\$50.00	\$30,000.00
Х	6	STAKED TURBIDITY BARRIER	1500	LF	\$15.00	\$22,500.00	\$10.00	\$15,000.00	\$30.00	\$45,000.00
Х	7	CLEARING & GRUBBING	1	LS	\$40,000.00	\$40,000.00	\$42,952.00	\$42,952.00	\$58,000.00	\$58,000.00
Х	8	SELECTIVE CLEARING & GRUBBING	0.2	AC	\$13,000.00	\$2,600.00	\$145,175.00	\$29,035.00	\$127,500.00	\$25,500.00
Х	9	MOWING	2	AC	\$4,000.00	\$8,000.00	\$7,000.00	\$14,000.00	\$4,000.00	\$8,000.00
Х	10	PILE JACKET REPAIR	150	LF	\$1,000.00	\$150,000.00	\$900.00	\$135,000.00	\$768.00	\$115,200.00
Х	11	BRIDGE BEARING REPAIR	1	EA	\$16,600.00	\$16,600.00	\$5,000.00	\$5,000.00	\$9,700.00	\$9,700.00
Х	12	REMOVAL OF EXISTING BRIDGE JOINT	275	LF	\$39.00	\$10,725.00	\$25.00	\$6,875.00	\$45.00	\$12,375.00
Х	13	CLASS IV CONCRETE- SUBSTRUCTURE	5	CY	\$4,500.00	\$22,500.00	\$7,000.00	\$35,000.00	\$4,833.00	\$24,165.00
Х	14	CLEANING AND COATING CONCRETE SURFACE, CLASS V	8000	SF	\$3.50	\$28,000.00	\$5.00	\$40,000.00	\$4.78	\$38,240.00
Х	15	CLEANING CONCRETE SURFACE	9000	SF	\$2.00	\$18,000.00	\$3.00	\$27,000.00	\$3.00	\$27,000.00
Х	16	RESTORE SPALLED AREAS (EPOXY)	40	CF	\$535.00	\$21,400.00	\$1,200.00	\$48,000.00	\$692.86	\$27,714.40

Project No. 919-7903- FY19-260086- CR241 over Santa Fe River				E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	17	CRACKS INJECT & SEAL- STRUCTURES REHAB	200	LF	\$1.00	\$200.00	\$80.00	\$16,000.00	\$80.00	\$16,000.00
Х	18	PENETRANT SEALER- CRACK REPAIR	5	GA	\$250.00	\$1,250.00	\$240.00	\$1,200.00	\$1,400.00	\$7,000.00
Х	19	BRIDGE DECK EXPANSION JOINT (REHAB- REPLACE) (POURED JOINT WITH BACKER ROD)	275	LF	\$49.00	\$13,475.00	\$35.00	\$9,625.00	\$92.64	\$25,476.00
X	20	RIPRAP- PREFORMED REVETMENT MAT	600	SY	\$237.00	\$142,200.00	\$580.80	\$348,480.00	\$258.65	\$155,190.00
Х	21	PERFORMANCE TURF (SOD)	5000	SY	\$15.00	\$75,000.00	\$4.80	\$24,000.00	\$6.00	\$30,000.00
Total		,	,	,		\$685,450.00		\$905,367.00		\$748,188.42

PROJECT NO 919-7903-FY19 -260027- CR 325 OVER CROSS CREEK

Project No 919-7903-FY19 -260027- CR 325 over Cross Creek				Tracting Ces, inc			Titan Construction Management LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	22	MOBILIZATION	1	LS	\$22,000.00	\$22,000.00	\$35,000.00	\$35,000.00	\$21,650.62	\$21,650.62
Х	23	MAINTENANCE OF TRAFFIC	1	LS	\$45,000.00	\$45,000.00	\$44,000.00	\$44,000.00	\$27,000.00	\$27,000.00
X	24	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00
Х	25	SEDIMENT BARRIER	600	LF	\$10.00	\$6,000.00	\$8.00	\$4,800.00	\$50.00	\$30,000.00

Project No	919-7903	3-FY19 -260027- C	R 325 over (Cross Creek		itracting Ces, inc	Company	nstruction of Pinellas ty, Inc.	Titan Construction Management LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	26	FLOATING TURBIDITY BARRIER	500	LF	\$25.00	\$12,500.00	\$15.00	\$7,500.00	\$50.00	\$25,000.00
Х	27	STAKED TURBIDITY BARRIER	300	LF	\$15.00	\$4,500.00	\$10.00	\$3,000.00	\$60.00	\$18,000.00
Х	28	CLEARING & GRUBBING	1	LS	\$46,800.00	\$46,800.00	\$20,000.00	\$20,000.00	\$19,000.00	\$19,000.00
Х	29	SELECTIVE CLEARING & GRUBBING	1	LS	\$40,500.00	\$40,500.00	\$27,035.00	\$27,035.00	\$15,000.00	\$15,000.00
Х	30	MOWING	0.5	AC	\$18,000.00	\$9,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$3,000.00
Х	31	TIMBER CAP REPAIR-SCAB	40	LF	\$1,133.00	\$45,320.00	\$600.00	\$24,000.00	\$276.41	\$11,056.40
Х	32	TIMBER CAP REPAIR- WRAP	25	SF	\$1,040.00	\$26,000.00	\$300.00	\$7,500.00	\$493.44	\$12,336.00
Х	33	TIMBER CAP REPAIR	40	SF	\$500.00	\$20,000.00	\$600.00	\$24,000.00	\$1,485.79	\$59,431.60
Х	34	REMOVAL OF EXISTING BRIDGE JOINT	150	LF	\$48.00	\$7,200.00	\$25.00	\$3,750.00	\$45.00	\$6,750.00
Х	35	CLEANING AND COATING OF CONCRETE SURFACE, CLASS V	2750	SF	\$4.00	\$11,000.00	\$5.00	\$13,750.00	\$4.78	\$13,145.00
X	36	CLEANING OF CONCRETE SURFACE	2500	SF	\$3.50	\$8,750.00	\$3.00	\$7,500.00	\$5.83	\$14,575.00
X	37	RESTORE SPALLED AREAS (EPOXY)	15	CF	\$2,800.00	\$42,000.00	\$1,200.00	\$18,000.00	\$1,183.33	\$17,749.95
X	38	CRACKS INJECT & SEAL - STRUCTURES REHAB	150	LF	\$155.00	\$23,250.00	\$80.00	\$12,000.00	\$80.00	\$12,000.00
Х	39	PENETRATE SEALER- CRACK REPAIR	5	GA	\$500.00	\$2,500.00	\$240.00	\$1,200.00	\$2,800.00	\$14,000.00

Project No 919-7903-FY19 -260027- CR 325 over Cross Creek				itracting Ces, inc	M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	40	BRIDGE DECK EXPANSION JOINT (REHAB- REPLACED) (POURED JOINT WITH BACKER ROD)	150	LF	\$100.00	\$15,000.00	\$35.00	\$5,250.00	\$92.36	\$13,854.00
Х	41	RIPRAP- PREFORMED REVETMENT MAT	150	SY	\$333.00	\$49,950.00	\$610.80	\$91,620.00	\$647.43	\$97,114.50
Х	42	PERFORMANCE TURF (SOD)	1500	SY	\$15.00	\$22,500.00	\$4.80	\$7,200.00	\$6.00	\$9,000.00
Total						\$474,770.00		\$367,105.00		\$454,663.07

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
Submittal Conformation	Pass	No Response	Pass	No Response	Pass
Corporate Resolution Granting Signing	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Fail	No Response	No Response	No Response	No Response
Option 1: Company is an Alachua County Certified Small Business Enterprise.	Pass	No Response	Pass	No Response	Pass

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
Option 2: I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.	Pass	No Response	Pass	No Response	Fail
Option 3: SBE Participtation.	Pass	No Response	Pass	No Response	Fail
Option 4: SBE Good Faith Effort.	Pass	No Response	Pass	No Response	Fail
Alachua County Government Minimum Wage	Pass	No Response	Pass	No Response	Pass
Drug Free Workplace	Pass	No Response	Pass	No Response	Pass
State Compliance	Pass	No Response	Pass	No Response	Pass
Vendor Eligibility	Pass	No Response	Pass	No Response	Pass
Non-SBE Subcontractors	Pass	No Response	Pass	No Response	Pass
Conflict of Interest	Pass	No Response	Pass	No Response	Pass
Form of Bid Bond	Pass	No Response	Pass	No Response	Pass
Do you acknowledge all Addendum(s) issued with this solicitation?	Pass	No Response	Pass	No Response	Pass
Responsible Agent	Pass	No Response	Pass	No Response	Pass
Number of years in this type of service?	Pass	No Response	Pass	No Response	Pass
Number of years licensed in Alachua County?	Pass	No Response	Pass	No Response	Pass
How many employees "ON THE JOB" each week?	Pass	No Response	Pass	No Response	Pass
Number of employees "ON CALL" each week?	Pass	No Response	Pass	No Response	Pass
List all major equipment which will be available upon commencement of the agreement to perform the required service:	Pass	No Response	Pass	No Response	Pass
Do you currently hold any municipality contracts?	Pass	No Response	Pass	No Response	

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
If you indicated yes to holding municipality contracts please list them below:	Pass	No Response	Pass	No Response	
List three references of firms receiving similar service to that requested in this bid (comparable facility size):	Pass	No Response	Pass	No Response	
Are your employees screened by:	Pass	No Response	Pass	No Response	
Have any leases, contracts or agreements for services held by your firm ever been canceled or terminated before the end of the term by either party?	Pass	No Response	Pass	No Response	
If you indicated yes to having any contracts or agreements canceled or terminated state the location and circumstances below:	Pass	No Response	Pass	No Response	No Response
What constitutes your normal business days and working hours?	Pass	No Response	Pass	No Response	
Describe below, your firm's operational plan for providing the services under this agreement?	Pass	No Response	Pass	No Response	
Did you review and complete all the required documents and attachments?	Pass	No Response	Pass	No Response	

ITA 23-947 CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation

Final Audit Report 2023-05-09

Created: 2023-05-09

By: Mandy Mullins (mmmullins@alachuacounty.us)

Status: Signed

Transaction ID: CBJCHBCAABAAMTUSpYIKQQCUypCdWn-8YM0N6Rc6hVYK

"ITA 23-947 CR 325 over Cross Creek and CR 241 over Santa F e River-Bridge Rehabilitation" History

- Document created by Mandy Mullins (mmmullins@alachuacounty.us) 2023-05-09 10:57:24 AM GMT- IP address: 163.120.80.69
- Document emailed to Darryl Kight (dkight@AlachuaCounty.US) for signature 2023-05-09 11:01:02 AM GMT
- Email viewed by Darryl Kight (dkight@AlachuaCounty.US) 2023-05-09 11:06:16 AM GMT- IP address: 163,120,80,11
- Document e-signed by Darryl Kight (dkight@AlachuaCounty.US)

 Signature Date: 2023-05-09 11:07:20 AM GMT Time Source: server- IP address: 163.120.80.11
- Document emailed to TJ White (twhite@alachuacounty.us) for signature 2023-05-09 11:07:21 AM GMT
- Email viewed by TJ White (twhite@alachuacounty.us) 2023-05-09 11:59:02 AM GMT- IP address: 98,180,0,215
- Document e-signed by TJ White (twhite@alachuacounty.us)

 Signature Date: 2023-05-09 1:24:57 PM GMT Time Source: server- IP address: 163,120,80,69
- Agreement completed. 2023-05-09 - 1:24:57 PM GMT